ITI Turner 2nd Year Module 4 Boring

(1). How many types of split bearing? | WWWWﬁ@?ﬁg?
(A) 4
(B) 3
(C) 5
(D) 2

Correct Answer : D

(2). What is the use of telescope gauge? | WWWWW%?

. C V)
(A) Check the length | TS P SITd ]

(B) Check the diameter | I &1 S BRI

(C) Check the hole size | §G & THR P S HA]
(D) Check the depth | TTERTS &1 Sild AT

Correct Answer : C

(3). What is the value of inside micrometer? Extension rod range = 125-150mm
Spacing coller = 12mm Barrel reading = 1.50mm Thimble reading = 0.00mm |

SIS S HIShIHICR BT A fb a1 8ldT 87 TaHC M IS 3o = 125-150 o T
PIeR = 12 Tl o & = 1.50 ot fverar g = 0.00 TR

(A) 137.00mm
(B) 168.50mm
(C) 138.50mm
(D) 126.50mm

Correct Answer : C



(4). What is the name of device? | @@WWW%?
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(A) Ring gauge | CUKIS]
(B) Fixture | fheRIeR

(C) Drill jig | fgat fomT
(D) Tool maker's button | Qﬂﬁﬁaﬂ

Correct Answer : D

(5). What is the name of split bearing? | WWWWW%?

A A,

(A) Flanged pattern type | qﬁﬁﬁﬁw

(B) Parallel pattern type | IR Ued UhR
(C) Spherical pattern type | MATHR U YPR
(D) Bush pattern type | gsrﬁztfw



Correct Answer : B

(6). What is the part marked as "X"? | X%Wﬁﬁl’%ﬂ 'J-I'I"THZIT%?

(A) Extension rod | '\JGR-IE'-‘QI"I IS
(B) Lock screw | EVW@

(C) Handle | %3?’[

(D) Spacing coller | TR BIR

Correct Answer : A



(7). What is the operation? | T8 D=9 TfhaT 82

(A) Checking the height of job | SITd 1 3T I HIUAT
(B) Truing button with height gauge | Wﬁﬁ%ﬂ'ﬁl gg‘l dcd
(C) Marking button with height gauge | mﬂaﬁaﬁﬁmﬁw

(D) Setting button with height gauge | §I<C TSl GRT S &t T BT

Correct Answer : D

(8). What is the name of split bearing? | WWWWW%?
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(A) Flanged pattern type | q%?s’ﬁz—rfuw

(B) Parallel pattern type | {-IJ-II"IiCNaE_"f!«IGbIQ



(C) Spherical pattern type | MATHR U bR
(D) Bush pattern type | qmﬁeﬁw

Correct Answer : A

(9). How many extension rods are available in an inside micrometer? | Udh
3MidRe ATSshIHIC | foral Tac e s IUAsY Bl 62

(A) One | Tp

(B) Three | GIG!

(C) Two | al

(D) Four | dR

Correct Answer : D

(10). What is the device used in lathe? | aﬂﬁWWWﬁaﬁ%ﬂWW
o7

(A) Jig | fom

(B) chuck | I®

(C) Faceplate | /g Wi

(D) Turning fixture | T fhaRTeR



Correct Answer : D

(11). What is the name of instrument? | LY 3UDH U] b K[ ATH %?
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(A) Telescopic gauge | CARDITUD Tl
(B) Inside micrometer | QYIRS Hlsq;ll-lnld'{
(C) Bore dial gauge | IR STd S

(D) Micrometer external | Wﬂa@mﬁa

Correct Answer : B




(12). What is the part marked as “X"? | "X" & %0 ¥ fafgd I T §?

(A) Handle | 88d

(B) Spacing coller | T hleR
(C) Lock screw | Tl &p

(D) Anvil | 3dId

Correct Answer : C

(13). How the two halves of split bearing is joined? | WW%@[%@@
P TSI ST 87

(A) On diameter line | oY ¢fIgd UR

(B) On chord line | ﬁé?ﬂ%qtl?

(C) On length vice | Fl'@'lg?ﬂggq?

(D) On offset of shaft | |IUE &b THBIC W

Correct Answer : A



(14). Which material is used to make the tool maker’s button? | Qﬁmaﬂﬁ
T | B I 1 IUTRT forat ST 872

(A) Hardened steel | W%@ﬂﬁ
(B) Tool steel | gof STId
(C) Cast steel | HIE Wi

(D) Stainless steel | g T

Correct Answer : A

(15). What is marked "X"? | "x"ﬁrl%‘crw% ?
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(A) Work piece | JHUNg

(B) Balance weight | ﬂﬂﬂqaﬁ:{
(C) C-clamp | c-a%’u

(D) Knurled screws | '_'Iﬁ_é@

Correct Answer : D

(16). Where the parallel type split bearing is used? | W\’WE@W
fyafie &1 SuanT fora ST |2



(A) Motor shaft | Hlex AMhe

(B) Big end of connecting rod | ﬁﬁﬂﬁgwa@ﬁm
(C) Pump | UM

(D) Hand drilling machine | Eﬁ%‘%’l"’[ﬂ?ﬁ:{

Correct Answer : B

(17). Why turning fixtures are accurately balanced? | e fhawr 9t ®u 3
qferd w81 &

(A) Avoid fatigue | YH I I

(B) Avoid friction | gyuT I ST

(C) Avoid noise | IR I T

(D) Avoid vibration | U I §I]

Correct Answer : D



(18). What is the name of the instrument? | SUDH U] b HTH W%?
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(A) Outside micrometer | Wmﬂ
(B) Inside micrometer | WW
(C) Telescopic gauge | CAD D TS

(D) Bore dial | IR STd

Correct Answer : B



(19). What is marked as "X"? | ”X"%Wﬁ%‘%ﬁﬂ%?
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(A) Cap | BT

(B) Angle plate | UTTdl @id
(C) Face plate | PH &I
(D) Fixture | flhaRI=R

Correct Answer : B

(20). Which one represents the positional tolerance in application of tool maker’s

button? | €& A §- & ITANT & B It FRUFT STy oI g 82

________

(A) 37 +0.016 mm
(B) 37 +0.000 mm



- @& 0.003

(C)
(D) 37 +0.02 mm

Correct Answer : C

(21). What is fixture? | foraaeR 182
(A) Hold and Guide the tool | Qﬁﬁfﬁ?&' GﬁT‘HsS DAl
(B) Hold and Locate the work piece | Wﬁm 3R TG

(C) Hold the tool | T P Uh Sl

(D) Guide the tool | €&l PI TTSS BRI

Correct Answer : B

(22). What is the name of instrument? | @WWWW%?
IR
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(A) Plug gauge | 'SURIE]

(B) Bore dial gauge | IR ST Il
(C) Telescopic gauge | CADITUD TSl
(D) Depth gauge | S TS

Correct Answer : C



(23). Which one is used for producing a bore to a high degree of positional

accuracy? | Bﬁfmﬁ@ﬂ%{%ﬁﬂﬁﬁ STG HIA %WW
ITANT fohaT STaT 82

(A) Reamer | IR
(B) Drill | fgat

(C) Boringtool | Ehﬁ"TE\FT

(D) Tool maker’s button | Qﬁmaﬂ

Correct Answer : D

(24). What is the main use of turning fixture? | i fh R 1 H¥ SUART T

8?

(A) Single piece production | Uch ¢l gch ST 3IG
(B) Process production | mm

(C) Mass production | @WWW

(D) Batch type production | G| UhIR h Il

Correct Answer : C

(25). Where the turning fixture is fixed in lathe? | Y o ef WW}[’W
gl g?

(A) Lathe bed | AU S
(B) Lathe saddle | Y TS
(C) Face plate | T &€
(D) Tail stock | ¢ %l



Correct Answer : C



